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P.T.O.

This question paper contains 5 printed pages]

LB—128—2024

FACULTY OF HUMANITIES

B.A. (First Year) (Second Semester) EXAMINATION

APRIL/MAY, 2024

ECONOMICS

Paper IV (Optional)

(Statistical Methods)

(Friday, 12-4-2024) Time : 10.00 a.m. to 12.00 noon

Time—Two Hours Maximum Marks—50

N.B. :— (i) Attempt all questions.

(ii) All questions carry equal marks.

(iii) Use of calculator is allowed.

(i)

(ii)

(iii)

1. Calculate the standard deviation and its coefficient from the following

data : 10

X F

0—10 5

10—20 10

20—30 12

30—40 16

40—50 27

50—60 10

60—70 15

70—80 5
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WT (    2    ) LB—128—2024

Or

State the meaning of index number. Explain the significance of index

number.

2. Calculate the Quartile Deviation and its coefficient from the following

data : 10

X F

0—5 2

5—10 5

10—15 7

15—20 10

20—25 12

25—30 15

30—35 8

35—40 4
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Or

What is Correlation ? Explain the types of correlation.

3. Calculate the coefficient of correlation from the following data : 10

X Y

10 12

11 14

14 15

10 16

20 21

22 26

13 21

12 15

Or

Explain the significance of correlation.
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WT (    4    ) LB—128—2024

4. Calculate the Fisher’s index number from the following data : 10

Goods        2016         2020

p0 q0 p1 q1

A 4 3 8 6

B 6 4 10 4

C 8 5 12 5

D 10 6 14 3

Or

Explain the construction of index number.

5. Attempt any two of the following : 10

(i) Calculate Laspeyre’s index number from the following data :

Goods         2012         2015

p0 q0 p1 q1

A 1 2 5 3

B 2 1 6 4

C 3 3 7 2
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(ii) Calculate the Range and its coefficient from the following data :

X

5

8

10

12

7

3

6

2

(iii) Dispersion

(iv) Paasche’s index number.

LB—128—2024 5
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